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=ES 0 JIIBJCT 2,560
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EVEEY 0 =K 2,560
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LER - - - -
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= R - - - - - -
nazaz<nva 530 - 200 - 310 470 0
= 0 170 - 1840 - ,960 120 0
=E3 470 0 480 - 150 - ,260 420 0
n|JeT| - 80 0 590 - 260 - ,380 540 0
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JII=F: - - - - - - - - - - - -
SMRTEF 460 - o - ,070 710 800 - 470 - 0 0 0
FHR - o - o - ,280 1800 800 - 470 - 0 0 0
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EEES - - - - - - - - - - -
JII=F:: - 1800 - 1800] 15800 15800 - 2470 - 2,560]  2,560] 2560
EEm| - - - - - - - - - - - - -
FHR - - - - - - - - - - - - - -
ERACT| - - 1230 - 1560 - 1,800] 1800 1800 - 2470 - 2,560]  2,560] 2560
HE 660 - - 1,150 - 1480 - 1,800 1,800 1,800 - 2470 - 2,560]  2,560] 2560
ORI - - - - - - - - - - - - - - - - -
Fk - - - - - - - - - - - - - - - - - -
P 790 - - - - - - - - - - - - - - - - - -
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